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四角形


BEARE SHAEELEHO/NEMIERARRTER

% 7] 1 - Fotketik B B 8 B & # W B
E#R 5, 638, 765
SCRBE O /NELARE A7 BER S 5, 638, 765
SCEBE OO /NELARE A7 BER S 5, 638, 765
B/ IAASE A R AR 5,522, 600
HREES 386, 800
1 FHE R 1.00 386, 800 386, 800
Y
AR ERE 1,432, 800
2 AN OIERE 2.00 238, 800 477, 600
=
3 KEXEICHY 2FEHROREEE 3.00 238, 800 716, 400
=
4 KEASEH OINERE 1.00 238, 800 238, 800
=
REOEE 271,900
5 FERURBEORE 1.00 271,900 271,900
Y
ERARDRE 1, 340, 000
6 HIBHIFM T TOXEXERFIORE 1.00 621,000 627,000
Y
TERBETUY 1.00 713, 000 713, 000
Y
ETILEDETE 1,166, 700
8 HEROEE 1.00 226, 200 226, 200
Y




BEARE SHAEELEHO/NEMIERARRTER

9 RO 1.00 940, 500 940, 500
=

& - |E 506, 100

10 HaT5E 1.00 109, 800 109, 800
=]

11 hREHRE 2.00 109, 800 219, 600
=]

12 R#E|E 1.00 176, 700 176, 700
=]

S 401, 900

13 RESER 1.00 401, 900 401, 900
=

AFRRARERDER 16, 400

14 ARAKRRDER 1.00 16, 400 16, 400
=

E#EEE 116, 165

EHRARE 50, 165

15 EHAME 1.00 50, 165 50, 165
=

S 66, 000

16 £BHEM 1.00 66, 000 66, 000
=




WIER SR E SRR O NS T R R

% g R - KSR Bifr B 2 B i & B W =
BRI 5,522,600 + 116, 165 5,638, 765
BEEAGE 5,522, 600
BE#RE 116, 165
T DR 5,522,600 x 53.85% ( 35% + (1 — 35%) ) 2,973,920
BRI 5,638,765 + 2,973,920 8,612,685
—REEES 8,612,685 x 53.85% ( 35% + (1 — 35%) ) — 615 4,637,315
KBS 8,612,685 + 4,637, 315 13, 250, 000
HETREALE 13,250,000 x 10.00% 1,325,000
EBEREN 13,250,000 + 1,325,000 14,575, 000




RET-FEL/ \vr—2

AR SER O/NEAE F HARE R

&5 :1
&% FrEEE 14y
2 b g - BIRTE By = il ® # " =
HEnE
A 1.00 66, 900. 00 66, 900
FEHRAR (F%ET)
A 1.50 58, 600. 00 87,900
AR (A)
A 2.50 51, 200. 00 128, 000
HEm (B)
A 2.50 41, 600. 00 104, 000
& Hi 386, 800. 00 386, 800
&5 :2
&% BEFEEHOINEERE 1IEEHY
2 b g - BIRTE By = il ® # " =
AR (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 2.50 41, 600. 00 104, 000
g
A 2.00 29, 000. 00 58, 000
& B 238, 800. 00 238, 800
&5 :3
£ REXEICHT HEHROINEEE 1IBEHY
2 b g - BIRTE By = il ® # " =
AR (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 2.50 41, 600. 00 104, 000
g
A 2.00 29, 000. 00 58, 000
& B 238, 800. 00 238, 800




RET-FEL/ \vr—2

AR SER O/NEAE F HARE R

&5 4
£ REXIGEF OUNEEE 1IBELY
2 b g - BIRTE By = B ® # " =
AR (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 2.50 41, 600. 00 104, 000
g
A 2.00 29, 000. 00 58, 000
& B 238, 800. 00 238, 800
&5 :5
& BHERVREOER 14y
2 b g - BIRTE By = B ® # " =
F{EHRAR (F%ET)
A 1.50 58, 600. 00 87,900
AR (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 1.00 41, 600. 00 41, 600
AR (C)
A 2.00 32, 800. 00 65, 600
& Hi 271, 900. 00 271,900
&S5 :6
L hEMEE T TOREZEERE OB 14y
2 b g - BIRTE By = B ® # " =
FEHRAR (F%ET)
A 3.00 58, 600. 00 175, 800
AR (A)
A 3.00 51, 200. 00 153, 600
HEm (B)
A 4.00 41, 600. 00 166, 400
AR (C)
A 4.00 32, 800. 00 131, 200
& Hi 627, 000. 00 627,000




RET-FEL/ \vr—2

AR SER O/NEAE F HARE R

&5 .1
2 b g - BIRTE By = B 4 ) # " =
FEHRAR (F%ET)
A 5.00 58, 600. 00 293, 000
AR (A)
A 5.00 51, 200. 00 256, 000
AR (C)
A 5.00 32, 800. 00 164, 000
& Hi 713, 000. 00 713,000
5.8
& EROERE 1XEY
2 b g - BIRTE By = B 4 ) # " =
F{EHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.50 51, 200. 00 76, 800
AR (C)
A 1.00 32, 800. 00 32, 800
g
A 2.00 29, 000. 00 58, 000
& i 226, 200. 00 226, 200
59
2% BHRO®E 1XEY
2 b g - BIRTE By = B 4 ) # " =
FEHRAR (F%ET)
A 4.50 58, 600. 00 263, 700
AR (A)
A 4.50 51, 200. 00 230, 400
e (B)
A 6.00 41, 600. 00 249, 600
AR (C)
A 6.00 32, 800. 00 196, 800
& Hi 940, 500. 00 940, 500




RET-FEL/ \vr—2

AR SER O/NEAE F HARE R

&5 :10
¥ BATHE HEED)
2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
& Hi 109, 800. 00 109, 800
&5 11
& PRERE HEED)
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
& Hi 109, 800. 00 109, 800
&5 .12
£ EW|E HEED)
2 b g - BIRTE By = B O ® # " =
HEnE
A 1.00 66, 900. 00 66, 900
F{EHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
& Hi 176, 700. 00 176, 700




RET-FEL/ \vr—2

AR SER O/NEAE F HARE R

&5 .13
£ MESERK 14y
2 b g - BIRTE By = it ® # " =
FEHRAR (F%ET)
A 1.50 58, 600. 00 87,900
AR (A)
A 2.50 51, 200. 00 128, 000
e (B)
A 2.50 41, 600. 00 104, 000
AR (C)
A 2.50 32, 800. 00 82,000
& Hi 401, 900. 00 401, 900
514
£ ARAKRRZDOER IEED)
2 b g - BIRTE By = it ® # " =
AR (C)
A 0.50 32, 800. 00 16, 400
& B 16, 400. 00 16, 400
&5 .15
&% EHARE 14y
2 b g - BIRTE By = it ® # " =
EXERARE
= 1.00 50, 165. 00 50, 165
& Hi 50, 165. 00 50, 165
&5 .16
2% EBHRRA 14y
2 b g - BIRTE By = it ® # " =
EBHRERERE
= 1.00 66, 000. 00 66, 000
& Hi 66, 000. 00 66, 000




